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= 1 123, 774
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= 1 3, 706, 360
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ERET
= 1 1, 875, 020
7 VEYANIERE T
= 1 1, 875, 020
AR VARTINE: = H400 X W2500
m 8 25, 080 200, 640
7 VA M ERE LW-H2000-B1-14000
m 8 52, 020 416, 160
7" VYA ERE LW-H1000-B1-L4000
m 53 23, 740 1, 258, 220
BN =b T
= 1 1, 469, 600
7 VR AN - T
= 1 1, 469, 600
AR VANFINE ¥ H400 X W2000
m 16 21,190 339, 040
7 VERYAME 9 ) BX (R) - (Sal)-B800 X H800
m 16 70, 660 1, 130, 560
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gL
= 1 6, 735, 994
B B A E A FU-B300-C300-1.2000
m 36 10, 400 374, 400
H H A B A FU-B300-C400-L2000
m 69 11, 410 787, 290
B A EE FU-B300-C300-L2000 (&1 )
m 15 24, 350 365, 250
B A B FU-B300-C400-L2000 (47 H)
m 36 26, 300 946, 800
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m 61 42,180 2,572, 980
EaIREMZIR 18-8-25BB W/C=65%
m3 7 15, 900 111, 300
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# 11 16, 160 177, 760
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mm
m2 357 1,028 366, 996
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= 1 51, 141
2] KAEl+0H
=X 1 44, 487
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ERLET
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HREIT
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= 1 23, 880
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HIRT
K 1 10, 482
R IR YU-D150
m 6 1,747 10, 482
Rt v kv T
= 1 698, 800
BUGAT H AT HTEEME MBFE (B600-L600-H600) 18
-8-40BB W/C=60%
ERT 8 55, 500 444, 000
ES MSGT-600-600
# 8 31, 850 254, 800
HEET
=X 1 2, 286, 341

- 12 -

EtszimE  AvkEr iR




NN /2

*

BB R =M FAH EME 1 HX

THRXSy « THE - 5 - #0510 % ¥ &2 A E M & @ TWE (EESMH)
TAT 7V MR T
[#3E]
1 1, 446, 278
T AR (5 - BREE) ATV 7Y RC-40 tH LV E 200
mm
178 873 155, 394
- AR (EE - BRIR ) KA M-40 BV E 300
mm
178 2,076 369, 528
8 g (5 - BEEE) D7 A7 7w b2 EMLER (25) B4 4+ k
NE 50mm
178 1,547 275, 366
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MTHER
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